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Note : All sections are compulsory. Choice of questions is indicated at each section. 

SECTION-I 

Answer any two questions in about 500 words each : 

1. Compare and contrast the meaning of 'industrial' and 'post-industrial' society. 	20 

2. "The twentieth century has been the most violent one in human history". Discuss the 20 
attempts at resolution of violence mentioned in this 1998 Human Development Report. 

3. Discuss the basic idea behind the concept of human security. 	 20 

4. Discuss the Renaissance in Europe. Was it merely a revival of ancient learning ? 	20 
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SECTION-II 
about 250 words each : 

.1 by the term 'deindustrialization' in the colonial context ? 	12 

- ctives of Indian Planning ? 	 12 

7. icerns debated in the context of review of the Indian Constitution ? 12 

8. What has the Indian state done to a ameliorate the plight of orphaned, delinquent and 12 

destitute children ? 

9. How can ICT help in uplifting the marginalized sections of our society ? Give your 12 
own views. 

10. Discuss the key issues in modern governance. 	 12 

11. Critically examine the functions family as an institution performs. 	 12 

12. What is the role of communication in an organisation ? Discuss. 	 12 
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SECTION-III 

13. Answer any two questions in about 100 words each : 

Food security 

Gandhi and Non-Cooperation Movement 

Social structure 

Features of Indian Music 

6+6=12 
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Note : Answer any two questions from DCQ and any four from MCQ. Q.No. 13 from 

SCQ is compulsory. 

Descriptive Category Questions (DCQ) 

Answer any two of the following questions in about 500 words each : 

1. Explain the circumstances which led to the Industrial Revolution in England. How 20 
did it affect the agricultural sector ? 

2. Analyse the Labour and Peasant Movements and their impact on National Movement 20 

in India. 

3. Discuss the fundamental rights as given in the Indian Constitution. 	 20 

4. What do you mean by planning ? How far planning strategy has helped in removing 20 

poverty and unemployment in India ? 

Middle Category Questions (MCQ) 

Answer any four questions in around 250 words each : 

5. How did the introduction of Iron tools improve the socio-economic life of 12 
human beings ? 
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6. Describe the factors responsible for the growth of River Valley civilisations. 

7. Discuss the major issues confronting the social reformers in nineteenth century India. 	12 

8. What is meant by market failure ? Briefly discuss the major weaknesses of free market 
economy. 

9. What do you understand by secularism ? Discuss the factors which made India a 12 
secular state ? 

10. Discuss the main arguments for providing reservations in jobs and legislature. 	12 

11. Discuss the educational status of Indian Women. What are the forces that work against 12 
it ? 

12. Discuss the serious consequences of a Nuclear War. How can NPT save us from it ? 
	

12 

Short Category Questions (SCQ) 

13. Write short notes on any two of the following in around 100 words each : 	6+6=12 
(a) Neolithic. Revolution 

(b) Paintings of Renaissance Period 

(c) Approaches to Tribal Development 

(d) Ecological crisis 

(e) Balwant Rai Mehta Committee 
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